[* pointerl.c */
#include <stdio.h>

int main(void)
{

int a=2005;
int* pA=&a;

printf("pA : %d \n", pA);
printf("&a : %d \n", &a);

(*pAy++;  llat+2f Z2 2[0S A[LICf

printf("a  : %d \n", a);
printf("*pA : %d \n", *pA);

return O;



[* pointer_array2.c */
#include <stdio.h>

int main(void)

{
int arr[3]={0, 1, 2};
int *ptr;
ptr=arr,;

printf("%d, %d, %d \n", ptr[0], ptr[1], ptr[2]);

return O;



[* pointer_op.c */
#include <stdio.h>

int main(void)

{
int* ptr1=0;
char* ptr2=0;
double* ptr3=0;

printf("%d HHX|, %d HX|, %d HX| \n", ptrl++, ptr2++, ptr3++);
printf("%d HHX|, %d HX|, %d HX| \n", ptrl, ptr2, ptr3);

return O;



[* ptr_arr.c */
#include <stdio.h>

int main(void)
{
int a=10, b=20, ¢=30;
int* arr[3]={&a, &b, &c};

printf("%d \n", *arr[0]);
printf("%d \n", *arr[1]);
printf("%d \n", *arr[2]);

return O;



[* arr_fct.c*/
#include <stdio.h>

void fct(int *arr2);

int main(void)

{
int arr1[2]={1, 2};
fct(arrl);
printf("%d \n", arr1[0]);
return 0O;

}

void fct(int *arr2)

{

printf("%d \n", arr2[0]);
arr2[0]=3;



[* val_swap.c */
#include <stdio.h>

void swap(int a, int b);

int main(void)

{
int val1=10;
int val2=20;

swap(vall, val2);

printf("vall : %d \n", vall);
printf(val2 : %d \n", val2);

return O;

¥

void swap(int a, int b)
t
Int temp=a;
a=b;
b=temp;

printf(“a : %d \n", a);
printf("b : %d \n", b);



[* ref_swap.c */
#include <stdio.h>

void swap(int* a, int* b);

int main(void)

{
int val1=10;
int val2=20;

printf("Before vall : %d \n", vall);
printf("Before val2 : %d \n", val2);

swap(&vall, &val2);

printf("After vall : %d \n", vall);
printf("After val2 : %d \n", val2);

return O;

¥

void swap(int* a, int* b)
o
Int temp=>*a;
*az*b;
*b=temp;



